
Computer Science Ics Part 1 Chapter 9 Online Test

Sr Questions Answers Choice

1 Which is a correct cell address of worksheet?
A. AA
B. 25
C. 3B
D. C5

2 The intersection of a row and column is called;
A. Data
B. Field
C. Cell
D. Equation

3 A signal worksheet contains ________ columns
A. 65536
B. 256
C. 2365
D. None

4 How many arguments does the sun function required
A. 1
B. 2
C. 3
D. 4

5 A preprogrammed formula
A. Function
B. Graph
C. Range
D. Cell

6 A work book is a group of
A. Many rows
B. Many columns
C. Worksheet
D. Least no or columns

7 Main window is spreadsheet is called
A. Work book
B. Work
C. Account book
D. Work sheet

8 Which cell address will be include in the range C5 : E7
A. C8
B. C6
C. E4
D. D9

9 Each cell can contain a
A. Label
B. Value
C. Formula
D. All

10 Which of the following is a correct column address
A. AA
B. 25
C. 3B
D. C5

11 Which of the following is a correct raw address
A. AA
B. 25
C. 3B
D. C5

12 Which of the following is a correct cell address
A. AA
B. 25
C. 3B
D. C5

13 Each cell in a spread sheet has a unique
A. Row
B. Column
C. Address
D. Both a and b

14 The vertical dimension of spreadsheet is called

A. Field

B. Record
C. Row
D. Column

15 The horizontal dimension of a spreadsheet is called
A. Field
B. Record
C. Row
D. Column




